(> #Hrudai Battini 9-19-21, HW 5
> read "/Users/hb334/Desktop/M5.txt";

Help5( )
with(linalg) :
RecToSeq(INILLREC,N), GrowthC(INLLREC,K) , GrowthCe(REC)

LeslieMod(SUR,FER): e.g. LeslieMod([9/10,9/10],[0,1,1]);
i LeslieMat(SUR,FER), e.g. LeslieMat([9/10,9/10],/0,1,1]);
(> #0 n = n-3
#a(n) = O0a(n-1)-5a(n-2)+0a(n-3)-6a(n-4).
RecToSeq([1,2,4,7], [0,-5,0,-6],1000) [1000];
13332106991818976842207931262499217009941907842867261781460213138612886736914\
09501087278423538854742138745038235597847583659823407224152959365072719668\
34802990403197524167951394859472023719834339786002222035666209835149160242\
332614288572393

> #1

gc = GrowthCc([1,2,3,4,5,6,7,8,9,10],([1,1,1,1,1,1,1,1,1,1],60);
gc2 = GrowthCe([1,1,1,1,1,1,1,1,1,1]);
2c=1.999018633
i 2c2=1.999018633
> $2
Sur := Vector[row] (1..30,0.99):
Surl := convert (Sur,list):
Fer := <<<Vector[row] (1..15, 0.5)>|<Vector[row] (1..15,0.25)>>|0>:
Ferl := convert (Fer,list):

LeslieMod (Surl, Ferl) ;

GrowthCe (%) ;

A := LeslieMat (Surl, Ferl);
Ea := eigenvals(A):

Eamax = Ea[2];

[0.5,0.495, 0.49005, 0.4851495, 0.480298005, 0.4754950250, 0.4707400747, 0.4660326740,
0.4613723472, 0.4567586238, 0.4521910375, 0.4476691271, 0.4431924358,
0.4387605115, 0.4343729064, 0.2150145887, 0.2128644428, 0.2107357984,
0.2086284404, 0.2065421560, 0.2044767344, 0.2024319671, 0.2004076474,
0.1984035710, 0.1964195352, 0.1944553399, 0.1925107865, 0.1905856786,
0.1886798218, 0.1867930236, 0. ]

1.489452967

A4:=1[05,05,05,05,05,05,05,05,05, 0.5, 0.5, 0.5, 0.5, 0.5, 0.5, 0.25, 0.25,
0.25, 0.25, 0.25, 0.25, 0.25, 0.25, 0.25, 0.25, 0.25, 0.25, 0.25, 0.25, 0.25, 0],
[0.99,0,0,0,0,0,0,0,0,0,0,0,0,0,o0,0,o0,0,o0,0,0,0,0,0,0,0,0,0,0,0,
0]
[0,0.99,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,o0,0,0,0,0,0,0,0,0,0,0,0,
0]
[0,0,099,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0,
0]
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[0,0,0,0.99,0,0,0,0,0,0,0,0,0,0,0,0,o0,0,o0,0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0.99,0,0,0,0,0,0,0,0,0,0,0,0,0,o0,0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,099,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0,
0],
[0,0,0,0,0,0,0.99,0,0,0,0,0,0,0,0,o0,o0,0,0,0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,099,0,0,0,0,0,0,o0,0,0,0,o0,0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,099,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0,
0],
[0,0,0,0,0,0,0,0,0,099,0,0,0,0,0,0,o0,0,0,0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,099,0,0,0,0,0,0,0,o0,0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0.99,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0,
0],
[o,0,0,0,0,0,0,0,0,0,0,0,099,0,0,o0,o0,0,0,0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,099,0,0,0,0,o0,0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0.99,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,099,0,0,o0,0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,099,0,0,0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0.99,0,0,0,0,0,0,0,0,0,0,0, 0,
0],
[o,o0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0,099, 0,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,099,0,0,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,099,0,0,0,0,0,0,0,0, 0,
0],
[o,o0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,099,0,0,0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 099, 0,0,0,0,0,0,0,
0],



[o,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 099, 0,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0.99,0,0,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0.99,0,0,0,0,
0],
[o,o0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0.99,0,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0.99,0,0,
0],
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0, 0.99, 0,
0],
[o,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0, 0.99,
01]

i Eamax = 1.48945296740262 “
[> #3
GrowthCe ([0,0,0,0.16,0.41]) ;
0.8879729192 )

> #4 I cannot undersand why this is incorrect in my while loop.
PlantGseq = proc(alpha, beta, gamma, sigma, IN/, K) local REC2, new2, i, k, L, out :
k == nops(INI) : L == INI :
2
REC2 := [oc-cs-y, B-o (1—a) -y] :
while nops(L) < K do
newZ2 = add(REC’ZL _pi=1 l) :
L:= [op(L),new?]:end

L
end:
PlantGseq(0.5, 0.25, 2, 0.8, [ 100, 80, 801, 10);

> #5
PlantGseq?2 = proc(alpha, beta, gamma, sigma) local x, i;

. . 2
evalf[ solve[l —add[[ alpha sigma-gamma beta-sigma”- (1 ' alpha) -gamma =1

e l

X X
end:
PlantGseg2(0.5, 0.25, 2, 0.8);
PlantGseq2(0.1, 0.25, 0.5, 0.1);
PlantGseq2(0.8, 0.6, 0.24, 0.26);




Frror, (in PlantGseg) unable to execute add

1.959998629
0.8507076269
1.003516867 6)




